Question Paper Title : TI_05

Date of Exam : 04-07-2019 10:00 AM

Reference 1D:(5489) Out of the following options, choose the sentence that is punctuated
correctly.

A."Who has been cutting my fine young cherry tree?" he cried.
B."Who has been cutting my fine, young cherry tree! he cried.
C.Who has been cutting my fine young cherry tree?" he cried!

D."Who has been cutting my fine, young, cherry tree?" he cried.

Answer: A."Who has been cutting my fine young cherry tree?" he cried.

Reference 1D:(5749) HERIYT HB7 HIfgdl 3Tk Il 3MTgel?

ABRHS TS
B4l faeramR @

C XU fawurfed
D.gfAd gl

Answer: D.ﬁ&lﬁ W

Reference ID:(5971) 48 &Y U Ted 20 faaqisl @l rdhdrd. fabdt Iy d 15 feawid @
hdla?
A.55
B.60
C.50

D.o4

Answer: D.64

Reference ID:(5965)  WdTall faciedn Aifddued st Ueh fafRiy ohH faddr oife. AR gablar oY
3fics:

27,22,17,11,7, 2
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A7
B.11
C.22

D.2

Answer: B.11

Reference 1D:(5493) Choose the appropriate collective noun to complete the given sentence.

The villagers were shocked to see of ships approaching the shore.

A.an army
B.a crowd
C.afleet

D.a flock

Answer: C.a fleet

Reference ID:(5746) Ul dhag! cidpAYd JUaTdl Hesal Y, JURT UAICUMT aad S 81 3MTe:

AR Tie
B. 9 Md

C Aa1d iad
D30 $HR

Answer: Ay T

Reference ID:(5730) q1 Gasy Ta.’ foparaere v % i,

AT
RIS
oXIK|
BRIIE|

Answer: AT
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Reference ID:(5739)  igeR 2018 AL URANI gd-a1 Faid 94 §g UldHd AR $& T Bld?

A Ryapte

B.fogR

C. 31y U&=

D. SR 30T HIRAR

Answer: Bﬁ%’l?

Reference ID:(5966) qIe e TveT FagA Atferest guf &R

6, 13, 28, 59,

A.120
B.121
C.118

D.122

Answer: D.122

Reference 1D:(5498) Choose the correct form of verb for the given sentence:

John his little sister by pulling her ponytail.

A.was annoyed
B.annoy
C.is annoys

D.is annoying

Answer: D.is annoying

Reference ID:(5961)  GIH Saaciiedl gL 20 Jufal Wb 3. 5 IUYd! idid Hidard aa
YTehCATUEHT 5 U e R il YT 98 3Iehd fobdl St

A.20 94, 20 9¥
B.20 Y, 10 9Y
C.25aY, 15 94
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Answer: D.30 aﬁf 10 aﬁf

Reference ID:(5721)  Wcitate! gotd! fawgrdf siet sitesr.

AT X Tagdid

AN W

B.dlfh b X gl

C.Jgfaa® X gravib

D.cacdld X Hefdl

Answer: AIGIEd X gau=iid

Reference ID:(5736)  HERIFHH HichUl {b-TRUS AT STo[H HIGAUl 9 AVl e Jobad sSigeld

fAAMde ST folegITd 3M8?

A.DIGIR
B.Riggf
C gt
D.auf

Answer: B.ﬁg’g’ff

Reference ID:(5748)  T® Hifgdl SMgdd I Ul [UY D10l ¢dl?

Answer: B.Tl'gcl_rﬁ

Reference ID:(5979)  feder pAMA eld g 3dl.
1,4,27,16, 125,36,

A.49

B.343
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Answer:

Reference ID:(5712)

Answer:

Reference ID:(5728)

Answer:

Reference ID:(5708)

Answer:

C.313

D.J10e! HIUE! ATel

B.343

WU T RN Hiurd 2

NGRS
B.UISI Hal

CaH Bd
D.dTell Bl

A B

I 81 & T BIUR A6l 3reRfGd Wearan SR i,

Al
B.&HH
C. R

D.Ivc™

C.p0]

Out of the following options, identify the compound sentence.

A.It was a night of festivities.
B.All were singing songs.
C.Sharon prepared the chocolate fudge and then she served it to everyone.

D.Everyone was delighted.

C.Sharon prepared the chocolate fudge and then she served it to everyone.
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Reference 1D:(5488)

Answer:

Reference 1D:(5490)

Answer:

Reference 1D:(5952)

Answer:

Reference ID:(5716)

Choose the option that best punctuates the given sentence:

The priest said to the groom obey your parents for you too will be a father

one day

A.The priest said to the groom, “obey your parents for you too will be a

father one day?

B.The priest said to the groom, “obey your parents, for you, too will be a

father one day.”

C.The priest said to the groom, “Obey your parents, for you too will be a

father, one day.”

D.The priest said to the groom, “obey your parents, for you too will be a

father one day!”

C.The priest said to the groom, “Obey your parents, for you too will be a

father, one day.”

Choose the correct form of adjective for the given sentence:

This movie on aliens is the one we watched last night.

A.scary as
B.scarier than
C.the scariest

D.more scary than

B.scarier than

IR AT GIGRE, He g TTeil ol
EIGKIGIY;

A.SRfa®H

B.UIpd
C.ORR

D.I¥hd

C.uref

GTefleTte! S IuTT UgiaTd fIRIVor et 3R 2

3Tfor fgedt HrsiAed Saht
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B.H1eT Gl

C.guil gol
D.fexd I

Answer: C.H?ﬂ Hﬁ

Reference ID:(5958)  WINIAUD! SIUTT TTeTHE hacs Wd-[qgeiid e gdTd?

AP, Titerfi= 31for Taq
B.71qd, %S 101 WiRed
C.Who5i<aT TTell, o ATOT HIst

D.77qd, WIRe 0T IS

Answer: C. A HIFP[, hp ST BIst

Reference 1D:(5496) Choose appropriate articles for the given sentence:

Harish was born into ____poor family, but he excelled in studies and rose to
become Collector of his town.

A.a, the
B.the, the
C.a, an

D.the, a

Answer: A.a, the

Reference ID:(5970) A T® $H 16 fgadid ol exal i1 B od H1H 20 feadid gqui &rdl. SR
Qg 4 fGad THd H1H &l 3107 A A SRAMS B S, R HH gui
HROGTTS! B AT UK et f[Gaq ANTaTer?

A.12 feag
B.9 faaq
.11 feag
D.10 f&ag

Answer: C.11 ﬁ?m
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Reference 1D:(5963) TR} BTal.
24,40,75,25,66 & 40

A.44
B.45
C.42

D.34

Answer: B.45

Reference ID:(5718)  ‘BTd IIq0Y T JTGIRT=N 312 -

A T} HI.
B. ST HSd Hul.
C . Rrarf¥rdt wes.

D. Y gId SHqu.

Answer: B.3IAIdl Hed Bl

Reference ID:(5951) 3Nl JU-GHIHRUN AN UHE U HIUM FekiT Hell Blch?

A et T fera
B.RITIHI HeT IR
C. A TG eRTATOR
D .=t oft. Afguft

Answer: D.ﬂmﬂg‘ﬁ\_rﬂ. Afguit

Reference ID:(5955)  TIfudea fa-a1 deTad FRISHE URTH WIelTdtd! SO dar?

A.3(gHG T8 3fsaTalt
B.A1faR M8

C.qeHG T8
D.9Ted WM

Answer: A.3gHq R AL
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Reference 1D:(5494) Choose the option with the appropriate suffix to complete the given
sentence:

Her appear was shabby as she had just been able to come out of
flood waters.

A.-ence
B.-ring
C.-ance

D.-ity

Answer: C.-ance

Reference ID:(5980)  Wffciaed 1 Ofgel SA1f0T 2 W 3Rl 3RMUBR 5 G 3107 3 Afgaidy, 3
el i TUR SR 6. § fdbdl fd TP ol ol Jdhd?

A.20
B.30
C.40

D.50

Answer: B.30

Reference 1D:(5954) P AT e U] Il Ji-oTd] HHARdT 3RId?

A TRIISH
B.b [eRIH
C.Ulem

D HRREH

Answer: AACISH

Reference 1D:(5487) Choose the option that correctly spells the words to be filled in the given
sentence:

was ?pprominent member of the

Th .
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Answer:

Reference ID:(5977)

Answer:

Reference 1D:(5956)

Answer:

Reference ID:(5745)

A.profesor , commitee

B.professor , commitee

C.professor , committee

D.profesor , committee

C.professor , committee

e TR gHHId 40 Neakid Taig 3ied, SaTi®! 25 3idd HaM 3.
arefsdh fHae bl S ar HerT Yedd e vard Sureddn fardl 3ig?

A.2/8

B.3/8

C.1/2

D.5/8

D.5/8

SRR Th M TR DT =T ARDT TGS U,

A Sch]

B.dYUe
C.YHahq

D.F&=A

D.F&=A

ay 2015 A SRS Uiet T DIt JuiiHed FERIYET fRid Saud R
fSfeper grr?

ASTIdR

B.10 f¥e¥ e wfga

C.10 fired fogar Afgan
D.=da (R
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Answer:

B.10 fied Iawa Afgan

Reference 1D:(5962) af Sl 99T e aamRil fed UIRR 3shH 3:1 3MTg. AT aardl

Answer:

TUMHR 243 Tl TR 9 YR AT I TUIRR 3

A3:1
B.2:1
C5:3

DA4:1

B.2:1

Reference ID:(5705) Choose the appropriate conjunctions for the given sentence:

Answer:

it was raining cats and dogs; __ he ventured out.

A.Such, that
B.If, so
C.Though, yet

D.Because, so

C.Though, yet

Reference 1D:(5495) Choose the option with the appropriate suffix to complete the given

Answer:

sentence:

The speaker not only had an attract personality but also looked very
hand and so could hold the audience spellbound.

A.-ic, -ing
B.-ively, -edness
C.ion, -y

D.-ive, -some

D.-ive, -some
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Reference ID:(5701) Choose the correct form of modal auxiliary verb for the given sentence:

He to face the angry mob alone.

A.dare not
B.dared
C.will dare not

D.ought to dare

Answer: B.dared

Reference ID:(5967)  diescial ST fagH AfereT qul e

11,12,17,18,23,24, _

A2
B.29
C.30

D.35

Answer: B.29

Reference 1D:(5968) G HIUR U1 3R1dd SfRTeaR dTeld Srdrd. Teh iRl 4 T arv gerr areit 5
fopeit 7. gaRT ufgeamuen sraf ar oel dighadl. R 3R dal.

A.6 fobHt

B.7.5 fobdl
C.10 foeit
D.12 fobeit

Answer: C.10 fopa

Reference ID:(5726)  WTaH facied RIsGUd! K AT Vgl faegrf 2eg HIord 2

AR
B.&Iaq
c.urfr
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Answer:

Reference ID:(5737)

Answer:

Reference ID:(5703)

Answer:

Reference 1D:(5953)

Answer:

Reference 1D:(5724)

AR

GIR T B8 UTeh HERTYTAT HIvIT oTegid RITTH HuTd St 3HTg?

ATyl
B.TART
C.3RATTeTE
D. AR

C. 3G

Choose the appropriate prepositional phrase for the given sentence:

The people are the false promises of the Minister.

A.disgusted by
B.disgusted on
C.disgusted with

D.disgusted in

C.disgusted with

HRATY IATUCAHE IV GURUIGR Tt a1 e ATRid Ue=imel et
P ST &7 Bed STEd 3R ifd HRudrd 3l

AT (GIRI URUM) HIal, 1952
B.HcHT (YU URIAT URUM) HAal, 1991
C. ¥ (GgTd! JYURUM) HRIGI, 1961

D. 9T (dTedHTd! GYURUM) HIIGT, 1985

B.¥eHT (ThIURTTRIG! JYURUM) HIIGT, 1991

G| UIaTae A=V HId 3Tg ?

ATS
B.gox!
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DA

Answer: A.Tn@;’

Reference ID:(5732) ‘Ol Xsardl fawgrlf 2rsg siiesr.

Ao
B.UIYT
C.UrRHA
D.3{afdA

Answer: B.UIHTH

Reference ID:(5719) T faRIVUTT JGTERuT 3ficsl.

AT G
B.I7TUIR el
C.ors uruft

D. Vel gAM

Answer: B.IMTUTR Hd

Reference ID:(5717) gor)nldl gy fas.

A3 — FIdATHS faRivor

B.fUsran — arqanierd faRiyor
C . TTTeT — STt faIvor
D.dIYe — URHATERS faivo

Answer: D. e — URHTUEaTES faivor

Reference ID:(5974)  THT YRR HhA! HTOT UHT AT HhRa! [deh! FaTdial SIhH F. 1200 HTOT
¥. 2000 AT H0ATT TS Bt THT A ST FHR 30% 30T I5H HHR
35% UdGT Fadidied] aId dadl. SR ThUl Hos fbddie fdbdl cadh sdd
DHal?

A.32.5%
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B.33.125%
C.34%

D.33%

Answer: B.33.125%

Reference ID:(5982) ~ BENGALURBENGALUR.....BENGALUR a1 A& BENGALUR 9T 20 dcal
QRIGTI HRUTTd 3MTeH 31T, TUH T4 faoiie RIFRIT 31eR Hleudrd Idid

30T R HHTHHM IAT YA <t DIg <ThuaTd IdTd. Ride] Seidl
3{&R DIUIA?

AE
B.L
CR

D.G

Answer: C.R

Reference 1D:(5499) Choose the most suitable determiner for the given sentence:

| will be able to give you my decision only after | have time to think.

A.some
B.many
C.plenty

D.much

Answer: A.some

Reference ID:(5969)  Udh AU fRR Truard dr=it 10 fasdt ovT 1d <1erq Arebal. YdTgTan av SR kit
2 fobeit 3rQ STfor ot gt f=IH SHIfor Uargrea 3o iR 30 MfHeid §ra
3 TR M UR b THUT 3R fobdlt 38a?

A.4 foet
B.4.8 fobHl
C.5 foet
D.6.4 fobdl
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Reference 1D:(5973)

Answer:

Reference ID:(5975)

Answer:

Reference 1D:(5491)

Answer:

Reference I1D:(5742)

Ueh] a&a! STUTe fhaatean a9 daaisr fdhadi fast dedr 25% diel g,
T AT BIUTd WRdl fheiht go fhdi=h sraele ol 3ihd 3iTe:

A.2:5
B.5:2
C.8:15

D.15:8

D.15:8

SR ST, AIQUET 25% 3 HHad 3d 0T 91y, TSI 20% 3Hfdd
HUI SR TR 31T, ArSfaat e fobdl Taw Sified UF HHadl?

A.45%
B.48%
C.50%

D.55%

C.50%

Choose the correct form of adjective for the given sentence:

Today, farming has increased food production.

A.intense
B.intensely
C.intensive

D.intensified

C.intensive

fE$UeR-2018 A THUISIAUHASIR, Has I SITT 12 1 diitids
TSNS (¢ Sfea Tam << feRiem N sReiede) gkt
it BIail.

A f&fSea e S arquikt kg ufsean
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Answer:

Reference 1D:(5978)

Answer:

Reference 1D:(5702)

Answer:

Reference 1D:(5709)

Answer:

c.feforea srmrdt feforea gedt
D. W gediva 3 ufaw g

A f&fSea e S arquikt kg ufssan

fe e Aferddial GaTa SieT =M.
1,3,6,11,18,29, ...

A.36
B.56
C.42

D.52

C.42

Choose the appropriate preposition for the given sentence:

| wonder why he was very quiet the meal.

A.through
B.throughout
C.between

D.in

B.throughout

Choose the correct form of tense for the given sentence:

up without any money, | only modest respect for it.

A.Growing, had
B.Having grown, have
C.Grown, am having

D.Having had to grow up, am having

B.Having grown, have
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Reference ID:(5704) Choose the most suitable conjunction for the given sentence:

my friends go, | will do so.

A.lf
B.And
C.Yet

D.Either

Answer: A.lf

Reference ID:(5727) HUlie faor a1 arevraRTEr 31y -

A YT BRI YT,
B.HR ¢UI.

C.Uig Hosul,
D.fierqul,

Answer: B.HIR ?rr?r

Reference ID:(5983) 40 W Ul HUELX HIGHE HNT UdTd SaiUDT 5 TaP, 15 T 30T 20 et
3{Ted. Tqul TgTe WRIRI 39 17 I 3176, Gaiid TRt ag 15 S0 gard
W T 14 3T, JOXPE W T 3R,

A.20
B.25
C.30

D.34

Answer: D.34

Reference 1D:(5972) 20% Tadd [¢edIar Tl GHHGRN 20% Th] ATell. BTUld fhHdd @val
b=l srTee Ut dlel.

A.54
B.4:3

C.3:2
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Answer: C.3:2

Reference ID:(5722) 8% IR SIdT.’ A1 AT IR BT 3ATR?

AATH
B.Hd-H
C faziyur
D.fepamug

Answer: c.fagyur

Reference ID:(5710) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

The vice president of the company gave his subordinates a piece of his
mind when the sales figures nosedived.

A.reprimanded
B.dvised
C.counselled

D.pitched in

Answer: A.reprimanded

Reference 1D:(5984) ¥Q 4 A deded™ U 3AYUIds F 8T 1/2 S SN0 T 3% 5 3 HH Hedr ™
1/3 S, TR F SRIeR fodl:

A12/19
B.11/19
C.11/18

D.13/21
Answer: C.11/18
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Reference ID:(5738)  WIciciUes! DIV RIS JAReh! TR RIS ATGI?

A.TfeTthel 8T

B.3{SISTAT T[gT

C. HRATAT TgI

D.Saucd FRramh efifa (deadh)

Answer: C. PR BT

Reference ID:(5747)  HI.Y. UIETd IiHT a1 JuiiTat Afec SdhIeH! TRIBR 2018 SUTTd ST
AEY
B. 91 IahT
C.qY &Yl

D.®iadm

Answer: B.‘%ITI%RI GiEal

Reference 1D:(5729) ‘TgTdTaR AR U0 I1 arev=aRmE 372 -

A RR=Sq #R0.

B.RR gehaqul.

C SfTaTe TR 3R,
D.ggd fSiamur,

Answer: C .Sfere e dUR 30,

Reference ID:(5750)  ETAAUD! BHI0T HERTY 1o AIBUdT SHIYBR AT G-I SR Rl
HRUN-T T =T 31R?
A fayr e ST

B.IrsguTd
c foymaydia foRieiaer Aar
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D.ISE (AW S AT T <aeer

Answer: C.faymayda foRieiaer Aar

Reference 1D:(5713) faRIue g TR fobat 3igd 2

AGH
B.dH

cCuUrH

D.gel

Answer: B.dH

Reference ID:(5733) < A UHHBIRN HRIAR! Siad SN giar.’ fparuere avg U g,

A I
B.gIdl
CEd
D3I

Answer: C.Eﬁ?f

Reference 1D:(5497) Choose the appropriate articles to complete the given sentence.

Most __ books are bound in paper; ___ few books are bound in leather.
Interestingly, some __ books are bound in human skin too.

A.no article, a, the
B.no article, a, a
C.no article, no article, a

D.no article, a, no article

Answer: D.no article, a, no article

Reference ID:(5957)  WKtAUD! ShI0TdT U TRI& HIT ATE1?

A HHIRTY
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B.JT0 YUgTad

RUCICASCIAE]

Answer: B.UTU TSUgTad

Reference ID:(5740)  SMART 2018 A Ycd HATI HERIYAT FRIGATST
PRGN Y YR Yool i HRGH] WU HRugrE fHofg
dal.

AFAICS
B SHMIEIG

C.AR
D.&e

Answer: C.dIqR

Reference 1D:(5486) Choose the option that has all the three words spelt correctly:

A.Exercise, enterprise, supervise

B.Exercise, entirprise, supervise

C.Exercise, enterprise, supervice

D.Exercise, enterprise, superwise

Answer: A.Exercise, enterprise, supervise

Reference ID:(5715) ‘375’ T el Yalaideh! Hiurdr 31ef 3mg?

A Freuant axg
B. B30I

C.N8 a&]
D.gex 9]

Answer:
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Reference 1D:(5720) ‘3[4 SO T TR 3 T

A FRIEdd gHl O
B.3RRI&d arcur
C.IR BRI
D.@QR Ul

Answer: AﬁTf\&‘IFlﬂ%ﬁ g g

Reference ID:(5723) JYS UT0YTel WBWSIE BR' a7 Tguftr oy -

A.JYe5 UT0gTd Tigdl 3 e,

B.UTGTYHTON 7T

C.UTSTHT T[0T it SIIUTRT AU SRd daT5 A=Al
D.JaTGTIa% s SIUARITS! §e8 AT,

Answer: C. TSI T[0T it S{IUTRT AV SR daT5 A=l

Reference ID:(5960)  facciiaed SIERT sowrd f&gia on1for Ucieraam Uash Hie-sitan aroR drell SiTd
3R T BRUT B 3ATS?
AfS3ia anfor Ugiet & waffed Hufiie wia smed
B el Us w5 ST UguuRfed e 3img
C.f&a anfor Uil 3= IHid He 31Id
D.TSH 81 TP SH&rd AP Wid Mg

Answer: B. TSI U W STf0T UgWURTRd Se- 3iTe

Reference ID:(5743)  SHAR 2019 A, HaTHIC-&12 IUUE 8T SUIGR BIKIEIREIE]
JIUR B G0 gTaaaT Ta.

A.PSLV- C25
B.GSLV-MK llI
C.PSLV-C44

D.GSLV-D3
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Answer:

Reference ID:(5744)

Answer:

Reference ID:(5707)

Answer:

Reference 1D:(5981)

Answer:

C.PSLV-C44

2018 A& Fifged 31for RRigror &= i1 uaT ot IBR FofapaT.

A 4T ey e

B. 41 T[T Q&I W&
C.41 3Rfdq e

D. 41w Sireit

C .41 3Rfdg e

Choose the correct form of verb that is in agreement with the subject:

A great speaker always his or her audience spell bound during any
debate.

A.keeps
B.keep
C.is keeping

D.have been keeping

A.keeps

Iiar = ufgear feaxh fa=n QedeTe 6 UM aremadry gedrd s, 231 feasit 9
g, 331 faasht 12 um, 4% fea=ht 15 g Snfor argwmol. SR fo= ard ugdia
I G S, TR 1031 fea=it it favdt U drae?

A.33 U
B.40 UM
C.42 UM

D.45 U=

A.33 TH
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Reference 1D:(5731) T & T [Afgd. a1 aradrid oH 3fiesT,

AT
B.farfeet
C®
D.g&I®

Answer: D.Yiddh

Reference ID:(5734) TeT ATAT a1 TeITd e el SN,

A3l
B.ITddd
C.3{TdT Irddd

D.Hodl

Answer: D.HdT

Reference ID:(5711) i Wegran favgrdf wrsg fAasT.

AP
BT
C.Ppad
D. oS

Answer: B.$fAH

Reference ID:(5714) PHTS HATAT GBI UUT 95 3ATeht Aegalr a1 wgufi= a1ef -

AT I3 a9E BI0.

B. &4t TRIsl TR et et srqo.
C.dobd BT guf B,

DT IUgT=l 4 3Teil SRAAHT UTSRITd ST,

Answer: DT 0Tt 9os 3HTelt AT UTSHTd STaul,
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Reference ID:(5735)

Answer:

Reference 1D:(5492)

Answer:

Reference 1D:(5959)

Answer:

Reference 1D:(5964)

Al HURTHT STSRAT! Uiselt 318.’ 3IfId Wsar IRy 3y forgl.

A Yiecit
B.YTacl
C.yi§d

D.Yid

B.YUTedl

Choose the correct form of the noun for the given sentence:

The Geneva is the first international agreement that laid down
rules on how wars should be fought.

A.convention
B.conventional
C.confrontation

D.conveyance

A.convention

AT ETTes ATeid fSaTY] (Wieeie) SamebUul Hiaal YHTONd HH! 3T
3{Ted. T YTl 3 HRUATIRE Uldae Ha:

A ared goar
B.[6®! dUR IUAN
C ISIATd I
D.02 © 98- gIva

B.7[30! TUR BIUAY

SR CERTAIN @ XVIGZRM 38 ThdeeE dal Sd 38d da MIRACLE & &9
JhdeeE A STsd?

A.NRHZXOV

B.NRIZXOV

C.MRIZXOV
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Answer: B.NRIZXOV

Reference 1D:(5500) Choose the option with the appropriate question tag for the given sentence:

George has never been to India,

A.has he?
B.has George?
C.hasn’t he?

D.hasn’t George?

Answer: A.has he?

Reference ID:(5706) Choose the correct form of expression to complete the sentence:
Dr. Garg’s of the data has already been published in a journal
whereas the of the other three scholars have not yet been
published.

A.analyses, analysis
B.analysis, analysis
C.analyses, analyses

D.analysis, analyses

Answer: D.analysis, analyses

Reference ID:(5976) el TSI T &1 &R I= BRI faay e vardt Suredd favd! 3ig?

A.27
B.1/7
C.1

D.6/7

Answer: A.2/7

Reference ID:(5725)  W@Tcllcidh! & IUTT aTerTd AT fagwor =gt 2
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B. AT UTATd hleglgs! Iud 3Te.

C.HIHIH AR} Ue Tasdrd.

D . HThiHI GH il 3MTg.

Answer: D . HThiHI GH il 3MTg.

Reference [D:(5992) T eear FAEER IO Il HIOTE 37

U2 B
F) T ?

S ——

Answer:
Reference ID:(5741) HERTY I Ta3UshH YR T Y& &l gl
A.TgaRT 2017
B.H 2018
c.fedsv 2018
D.ThgdRl 2018
Answer: D.ThgdRl 2018
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